Resources:
http://www.ackgame.com/crypto.htm

FAIKPLDBNOEJCGHQSZMYXWVRUT Frequency order of this ciphertext
ETAOINSRHLDUCMGFYPWBVKXJZQ Normal frequency order in English
Normor test score is: 202

Number of characters (A-Z,#,0-9) is: 52

Number of different characters is: 16

Index of coincidence: .875

Index of coincidence at period lengths 3 through 17

Per. 3 = .094 Per. 4 = .099 Per. 5 = .053 Per. 6 = .098 Per. 7 = .088

Per. 8 = .0102 Per. 9 = .0104 Per. 10 = .037 Per. 11 = .064 Per. 12 = .0128
Per. 13 = .038 Per. 14 = .048 Per. 15 = .033 Per. 16 = .0104 Per. 17 =
.0176

http://home.earthlink.net/~fpcorr/AcaTools.html
https://bionsgadgets.appspot.com/
https://bionsgadgets.appspot.com/gadget_forms/solve_cipher_only.html <- lets you sub letters

Assumed Transcript
ABCADDEFB GHFBDIJKI LI APINOKKAPFFQALEIF KI LNOKKAPFFAPIL

Ciphertext Transcript Agent Notes
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http://www.ackgame.com/crypto.htm
http://home.earthlink.net/~fpcorr/AcaTools.html
https://bionsgadgets.appspot.com/
https://bionsgadgets.appspot.com/gadget_forms/solve_cipher_only.html

Probably replaced by f, o, s,
n,y, e ort (both two letter
words ends with it)

0N EEEg® K-




Overall Notes:

e Possibly reversed or upside-down.

e Likely in another language besides english, possibly European in origin however, South
American has be discussed.
Related to glyph?
A fourth note with three new paragraphs and an english text has been found; the text
and the cipher don't seem to match up...
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https://cdn.discordapp.com/attachments/280750246869598209/306818957506117632/omt_code.png
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https://cdn.discordapp.com/attachments/263824184105238548/312054494169137152/image.jpg

